Lessson 14: International Swaps Markets:

International Swaps Markets are a type of financial market where investors can
exchange one type of financial instrument for another. These markets allow investors
to manage their risk exposure by exchanging cash flows or securities with other
parties.

Swaps markets are an important tool for managing risk in global financial markets.
They allow investors to mitigate their exposure to various financial risks, including
interest rate risk, currency risk, and credit risk. Swaps markets are also used by
corporations to manage their exposure to market risks associated with their business
operations.

Types of Swaps:

There are several types of swaps, including interest rate swaps, currency swaps, and
credit default swaps.

Interest Rate Swaps: An interest rate swap is an agreement between two parties to
exchange a fixed interest rate for a floating interest rate. This type of swap is used by
investors to hedge against interest rate risk, which is the risk of changes in interest
rates affecting the value of an investment.

Currency Swaps: A currency swap is an agreement between two parties to exchange
one currency for another at an agreed-upon exchange rate. Currency swaps are used to
manage currency risk, which is the risk that changes in exchange rates will affect the
value of an investment.

Credit Default Swaps: A credit default swap is an agreement between two parties to
exchange the risk of default on a loan or bond. The buyer of the swap pays a premium
to the seller of the swap in exchange for protection against the risk of default.

Benefits of Swaps Markets:

The benefits of swaps markets include the ability to manage risk exposure, increase

liquidity in financial markets, and facilitate efficient price discovery. Swaps markets
also provide investors with access to a wider range of investment opportunities and

help to reduce the overall cost of capital.

Conclusion:

International Swaps Markets are an important tool for managing risk in global
financial markets. They provide investors with a way to exchange one type of
financial instrument for another, allowing them to mitigate their exposure to various
financial risks. There are several types of swaps, including interest rate swaps,
currency swaps, and credit default swaps, each with its own unique benefits and
applications. By providing investors with access to a wider range of investment
opportunities and facilitating efficient price discovery, swaps markets help to reduce
the overall cost of capital and promote economic growth.



here are some exercises and solutions about Interest Rate Swaps:
Exercise 1:

A company has borrowed $10 million at a fixed interest rate of 5% per annum. The
company is worried that interest rates may rise in the future and wants to hedge its
risk exposure. The company decides to enter into an interest rate swap agreement with
a bank.

The bank offers to pay the company a fixed interest rate of 4% per annum and receive
a floating interest rate of LIBOR plus 1% per annum. The swap has a term of 3 years.

Assuming that LIBOR is currently 2.5% per annum, calculate the net cash flows for
the company and the bank over the life of the swap.

Solution:
For the company:
o Fixed rate paid to the bank: $10 million x 5% x 3 years = $1.5 million

e Floating rate received from the bank: $10 million x (LIBOR + 1%) x 3 years =
$10.75 million

Net cash flow for the company: $10.75 million - $1.5 million = $9.25 million
For the bank:

e Fixed rate received from the company: $10 million x 4% x 3 years = $1.2
million

o Floating rate paid to the company: $10 million x LIBOR x 3 years = §7.5
million

Net cash flow for the bank: $1.2 million - $7.5 million = -$6.3 million
Exercise 2:

Assume the same scenario as Exercise 1, but this time, the bank offers to pay the
company a fixed interest rate of 6% per annum and receive a floating interest rate of
LIBOR plus 0.5% per annum.

Calculate the net cash flows for the company and the bank over the life of the swap,
assuming that LIBOR is currently 2.5% per annum.

Solution:
For the company:
o Fixed rate paid to the bank: $10 million x 5% x 3 years = $1.5 million

o Floating rate received from the bank: $10 million x (LIBOR + 0.5%) x 3 years
= $10.375 million

Net cash flow for the company: $10.375 million - $1.5 million = $8.875 million
For the bank:



o Fixed rate received from the company: $10 million x 6% x 3 years = $1.8
million

o Floating rate paid to the company: $10 million x LIBOR x 3 years = §7.5
million

Net cash flow for the bank: $1.8 million - $7.5 million = -$5.7 million
Exercise 3:

A company has entered into an interest rate swap agreement with a bank. The
company will receive a fixed interest rate of 3% per annum and pay a floating interest
rate of LIBOR plus 2% per annum. The notional amount of the swap is $5 million,
and the term of the swap is 4 years.

Assume that the current LIBOR rate is 2% per annum in year 1, 2.5% per annum in
year 2, 3% per annum in year 3, and 3.5% per annum in year 4. Calculate the net cash
flows for the company and the bank over the life of the swap.

Solution:
For the company:
o Fixed rate received from the bank: $5 million x 3% x 4 years = $0.6 million

o Floating rate paid to the bank in year 1: $5 million x (LIBOR + 2

here are some exercises and solutions about Currency Swaps:
Exercise 1:

A US company has a $10 million loan at a fixed interest rate of 6% per annum in US
dollars. The company wants to convert the loan into Japanese yen to take advantage
of the lower interest rates in Japan. The current exchange rate is 1 USD = 110 JPY.

The company decides to enter into a currency swap agreement with a Japanese
company. The Japanese company will borrow $10 million in the US at a fixed rate of
4% per annum and lend the same amount to the US company in Japanese yen at a
fixed rate of 2% per annum.

Assuming that the exchange rate remains constant at 1 USD = 110 JPY, calculate the
net cash flows for the US company and the Japanese company over the life of the
swap.

Solution:

To calculate the net cash flows for both parties, we need to first determine the cash
flows for each party separately. Let's start with the US company:

US Company:

e The US company currently owes $10 million at a fixed interest rate of 6% per
annum in US dollars, which means it has to pay $600,000 in interest per year.



e The Japanese company will lend the US company the same amount in
Japanese yen at a fixed rate of 2% per annum, which means the US company
will have to pay ¥200 million in interest per year.

e To convert the loan amount into Japanese yen, the US company will need to
exchange $10 million into Japanese yen at the current exchange rate of 1 USD
= 110 JPY, which gives them ¥1.1 billion.

Japanese Company:

e The Japanese company will borrow $10 million in the US at a fixed rate of 4%
per annum, which means it has to pay $400,000 in interest per year.

e The Japanese company will then lend the same amount to the US company in
Japanese yen at a fixed rate of 2% per annum, which means it will receive
¥200 million in interest per year.

e To convert the loan amount back into US dollars at the end of the swap, the
Japanese company will need to exchange the ¥1.1 billion back into US dollars
at the same exchange rate of 1 USD = 110 JPY, which gives them $10 million.

Now, let's calculate the net cash flows for both parties over the life of the swap,
assuming a swap period of one year:

US Company:
e The US company pays $600,000 in interest on its original loan.

e The US company receives ¥200 million in interest from the Japanese
company.

e At the end of the swap, the US company converts its ¥1.1 billion back into US
dollars at the same exchange rate of 1 USD = 110 JPY, which gives them $10
million.

e Net cash flow for the US company = ¥200 million - $600,000 = $1.2 million
Japanese Company:

e The Japanese company receives $400,000 in interest from its loan in the US.

o The Japanese company pays ¥200 million in interest to the US company.

o At the end of the swap, the Japanese company converts its ¥1.1 billion back
into US dollars at the same exchange rate of 1 USD = 110 JPY, which gives
them $10 million.

e Net cash flow for the Japanese company = $400,000 - ¥200 million =
$400,000 - $1.8 million = -$1.4 million

Therefore, the net cash flow for the US company is positive at $1.2 million, while the
net cash flow for the Japanese company is negative at -$1.4 million. This means that
the US company benefits from the currency swap, as it is able to take advantage of the
lower interest rates in Japan, while the Japanese company incurs a loss.



Exercise 2:

Assume the same scenario as Exercise 1, but this time, the exchange rate fluctuates
over the life of the swap. The exchange rate is 1 USD = 110 JPY in year 1, 100 JPY in
year 2, and 120 JPY in year 3.

Calculate the net cash flows for the US company and the Japanese company over the
life of the swap.

Solution:
For the US company:
o Interest paid on the US dollar loan: $10 million x 6% x 3 years = $1.8 million

o Interest received on the yen loan in year 1: $10 million x 2% x 1 year =200
million JPY

o Conversion of yen into USD in year 1: 200 million JPY / 110 = $1.818 million

e Interest received on the yen loan in year 2: $10 million x 2% x 1 year =200
million JPY

o Conversion of yen into USD in year 2: 200 million JPY / 100 = $2 million

o Interest received on the yen loan in year 3: $10 million x 2% x 1 year =200
million JPY

e Conversion of yen into USD in year 3: 200 million JPY / 120 = $1.667 million

Net cash flow for the US company: -$10 million + $1.818 million + $2 million +
$1.667 million - $1.8 million =-$313,000

For the Japanese company:

o Interest received on the US dollar loan in year 1: $10 million x 4% x 1 year =
$400,000

here are some practical exercises and solutions about Credit Default Swaps:
Exercise 1:

Assume that a company has issued a $100 million bond with a 5-year maturity and a
coupon rate of 5% per annum. The bond is rated as BBB by a rating agency. The
company is concerned about the risk of default, so it decides to purchase a credit
default swap (CDS) from a bank with a notional value of $100 million and a premium
of 2% per annum.

If the company defaults on its bond at the end of year 3, calculate the net cash flows
for the company and the bank.

Solution:

For the company:



e Interest payments on the bond for the first 3 years: $100 million x 5% x 3
years = $15 million

e Payment to the bank for the CDS premium for 3 years: $100 million x 2% x 3
years = $6 million

e Payment from the bank for the default on the bond: $100 million

Net cash flow for the company: -$15 million - $6 million + $100 million = $79
million

For the bank:

e Premium received from the company for the CDS: $100 million x 2% x 3
years = $6 million

e Payment to the company for the default on the bond: $100 million
Net cash flow for the bank: $6 million - $100 million = -$94 million
Exercise 2:

Assume the same scenario as Exercise 1, but this time, the company does not default
on its bond.

Calculate the net cash flows for the company and the bank.
Solution:
For the company:

o Interest payments on the bond for the first 3 years: $100 million x 5% x 3
years = $15 million

e Payment to the bank for the CDS premium for 3 years: $100 million x 2% x 3
years = $6 million

Net cash flow for the company: -$15 million - $6 million = -$21 million
For the bank:

e Premium received from the company for the CDS: $100 million x 2% x 3
years = $6 million

Net cash flow for the bank: $6 million



